TR IR R RR TR BT TR B R R R R R R R B R R R R I R B R TR T R TR R OERrTI W Rymmm i a——m—————= o

———e - -—-—-——--T

/mmc?éehm

K fo pexd
. Howsw ords. (2 10/23/204

Qg@'} X Pas 00 Q{ £(x)= Sin (x+ le ‘Q/W

£900)= sin(v102) =0 ——rc s P
£700) = (142:0) eos (02 0%) = L 7/2()‘)?//*,.? ws[xrxj
| £10) = 2 £% X)i0+2v)_f_§'ﬂw(Xﬁf?)i?,ca_s,,(zcﬂ),_
£00)~ -l o cos b -
itk ginxexnt)
Toaw, Taloy  Zxpamsion  Lecomss i
= Ato) £—@ -0} ‘5-23—/,0‘)“(*"0)“1 A

PN
- s et / T8 fonaas. | |

2 Sillf - singd s 2o 3 2_3:_‘%3&!?_?__._‘,__’35' 2? «77 27
wd  ave vout tfo find  Tamlor xpausnon  foc Tl
[fist Aive fowms of  sinlxtx?), we are interested
am 'ﬂq PO up bo_ %%

* 5rvr(xvx e X(Xﬁ\' 37 Xs{*ﬂ)i—f»“——ﬁfiéxﬂr-}sr—*—

| ,,

bes O gty = e +5x r 3]y
= kL X9 +
Jf(* i Ao 6 X ; I

Y | o wi colulote. paé' A 2&@%{ all _powes

.a/fm wlf Keq gy«t__m_uJJLM 4).

Scanned with CamScanner



3 S Tz A5 T, poale e subzh h uhiou ®
242 Tlam:  Tize-s Z (N E). Npw
Blhftos o .k 8
archwm x> S, 1re? dt
L E o) i
s 20 S0RT SRV (5 ) b
et choore—x——= Mjﬁjo (»/\"gjir
| fake Aoz = x  oamd  tom B4
v  accloy x =o€ oaud pure o b= B
<t Th
tam (x1 ) AL &2 B o

| - 4oum & tou 3.

"l’aqu MUIM ot both  s1des
o chom (ﬁm/a’rﬁ)): t (W” r tam 3 )

| = tam & toum R
A~ a/chm( 1—x3 )

gine tom A = X _awd tam pTYy omd

Lacchm (tom z) = 2, 50

acctom X +MCf6WH = arcfa,m Tt'ég)]

~.i/emu A= anctom x  auwd p:mm 4

-

Scanned with CamScanner



Scanned with CamScanner




